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Grorcice 1
Calculer im y dans chacun des cas suivants
x>l 5 y=h(-x’+2) 2 x—>2 ; y=In(3x-5) (1
Xx—>7 ; y=h1(x—\/x+2) (4 x—>0 ; y=1n(sinx+ x+e) 3
4x -3 (6 2 _ (5
x>l Y=1n( j x>l : y=ln| X
2-x 3x+5
X—>e ; y:]n(x—eﬁ—%/;) (8 X—>-2 ; y=111(X2+2X+62) (7
Grorcico »
Calculer lim y dans chacun des cas suivants
X—>e yzln(sx/;—Sx+56) @ X—>3 y=ln(x2—3x+3) (1
3x-2 Jex?-1 (4 1 xe’ -1 €
—>—o0; y=In + X —>-—0; y=In +
x Y {x3+x—2 2+%X2j { 2+x% 24X
[Bodce  E 3
Calculer lim y dans chacun des cas suivants
X —>—0 ; yzln(—x3+2) (2 X —>—0 ; y:ln(x2—3x+2) (1
X —>+0 ] y:ln(zx_3_w/X2+1) (4 X —>+0 y=1n(3x2—5+\/x+2) A3
_ 5x -3 (6 3 (5
x> y:h{ j X -0 ; y=lnM
I-x 3x -5
[Bodc: 1 4
Calculer lim y dans chacun des cas suivants
2 1
N yzm[ 243 j ( o y:m( 243 j (
X +x-2 X" +x-2
4 2(x)= 3
x>0y 3() 4In(x)+3 x40 y= 10 (x)-4In(x)
In (x)—ln( )-2 2-3n(x)
(6 2(x)- ©
x—0": In*(x)—In(x)+1 X >+ y= 3In?(x) 51n(§)
( )-In’(x)-3 2-3In(x)+2In*(x)
Bordce K s I
Calculer im y dans chacun des cas suivants
X >+ y=1n(2x—3—\/4xz+3x+5) 2 X 5o ; y=1n(3x—1—\/4x2+x+1) 1
Grorcice o I
Calculer lim y dans chacun des cas suivants
X—n ; y=In(sinx) 2 X—n ; y=In(sinx) (1
tan(5x 4 i 3 3
x—=>0 ; yzln( )(( )) x—=0 ; y:h{—sm(xe )j
X

Bonne Chance
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